EARAROBEEIERT — 2 N— IBISH —F

20174108178 (K) 15EI£R4H

Gl oskss e Tese] mEoWER A 455

(xwlw | lmEmml - |5 ) oo E

[A&<] 1 7% :1,000,000 §  27&:230,000 "  37#&:120,000 4

4 7% 190,000 @ 5 7&:60,000 A

B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— o HHRE :36. —5-5- . — 1R (29R)
11111 R=—FRHA vy b 4 8 50 1(3_6)2 5-5-5-3 | 38.7 5 (4‘27) I »
R JIWRry b B:FELI AR O14YIL7 7 —LHBXE
I g 4t 3 | EEHEBAA 1:37.1 4-4-1-1 | 40.9| — 1 485 | IlIFEZ (£3R)
2 3| VwIHL2R 54.0 () () | LTER
RN=VTTA BixY 4R #H B
s . > 4 | FREA 1:37. 3-3-4-2 | 40.8| — 2 466 | BAEZ (£R)
sl 4| * M H—ZL—E— “ 7 5.0 (7€) 4o |EABE
ST INATA—H— BIUTINIIANRTITA 3> Rt FH77—L4
N FEHFIEAR —7-7- — £H—8 (£R)
4lsl5|T1—F270- 4 3 el 173{:)2 7-7-7-7 | 37.9 6 (4_1;6) et
Z:x14a B XI5— KL w77 — L4
s 5 | EFRNE 1:37.2 5-6-6-4 |39.3| — 7 426 | =iEERE (£R)
517|7|FVE/IAT 54.0 (7€) (-a) HAIE—
L:viNnNygLHTr B:A—X3Iv2 e 4535
o4 | EUER 1:40.4 1-1-3-6 | 44.5| — 4 498 | SHARLEH (£R)
N > BERES AL 56.0 (51%) 1) | =
RiFkovH/xEF BieAHIUTR o #EE
RS o9 | BBHRE 1:40.5 1-1-1-5 [ 44.6 | — 3 501 | hOAEANSE (£R)
7 AR RE! J 56.0 (3/4) (+5) | FFBB
SF—TRTN—F BixXA4Yagagtr ket e]
@ 1 — S —EBIEf
13—F— (2,6),4,3,(1,7),5
2= = (2,6),4,3,1,7,5
Jol=5r= (3,6),2,4,1,7,5
40 —F— 3,4,1,7,6,2,5
[ N3
H OB 1 1,300 74K 1-3 400M B & 1-3 1,160M 3EHE 1-3-4 780H
8 B 1 280M 1-4 390M B E =8 3,820M K31 1-3-4 8,320
3 150 3-4 180M

ABICOVWTRDTEEERROODE. TR LIV,




